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QUESTION 1

Which Cisco management software is required to setup EMC e-mail home for Cisco MDS switches? 

A. Cisco Data Center Network Manager (Cisco DCNM-SAN) 

B. Cisco Unified Computing System Manager (Cisco UCSM) 

C. Cisco Smart Call Home (Cisco SCH) 

D. Cisco Terminal Access Controller Access Control System (Cisco TACACS) 

Correct Answer: A 

 

QUESTION 2

You want to use vMotion to move the entire state of a running virtual machine between hosts over a dedicated vMotion
network without service interruption. 

What are two vMotion prerequisites before performing this task? (Choose two.) 

A. Verify that you have at least two ESXi hosts that are licensed for vMotion or are in evaluation mode 

B. Verify that you have running instances of vCenter Server and the ESXi hosts are in maintenance mode. 

C. Verify that hosts have access to shared storage of a supported type, such as Fibre Channel, iSCSI, or NAS 

D. Verify that the source and destination hosts have specific Intel x86 CPUs. 

Correct Answer: AC 

 

QUESTION 3

For bare metal deployments, which statement ensures VCE is able to provide reasonable-effort support? 

A. The ratio of bare metal to virtualized hosts cannot be more than 40 percent. 

B. A minimum of five virtualized hosts must be enabled. 

C. Bare metal workloads are run on separate physical spindles, disk groups, and pools. 

D. Systems cannot include hypervisor technologies other than VMware. 

Correct Answer: C 

 

QUESTION 4

You observe that a host in a high availability (HA) cluster shows as disconnected within vCenter. The virtual machines
running on the disconnected host have not automatically restarted as expected. 
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What is the cause of this problem? 

A. NTP was not configured on the HA cluster. 

B. vMotion is not enabled on the cluster hosts. 

C. The disconnected host was the master host. 

D. The host is still exchanging a data store heartbeat. 

Correct Answer: D 

 

QUESTION 5

Which type of ODBC (DSN) connection is required for VMware Update Manager? 

A. Microsoft SQL 64 bit 

B. Microsoft SQL User DSN 

C. Microsoft SQL 32 bit DSN 

D. Microsoft File DSN 

Correct Answer: C 
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